f3=1

4467, ArBa3nBaiBREZE 18 AgHRNEas
Q) RaEy4() &) BRERE A EEAIHLT S
FELL (o) fFHETar. ARTRMGERS

ﬁ'l% (o1 o
Al ;l o RLETAS 3 2 8k g
Lo | 0
ﬂg o -1 0
TRmE [ - | =Dt = b (5 () 8
o ~1 1

BRI 0,2, ~1 THBD3300EBWEEL 297 A X BLEAL,
EYEAE.0 o ERN7HUT -

o0 | o||X 0 14
[I | ] ]['912 [DJ ) [OJ 17‘“%5}7\‘774'\3
0 | & llZ% 0 —|

BVER L o BR A7HLIT

o | A b 1

[l | ?]M:QM &+ [% 55 H3
0 | o Z Z |

BVETE-1 o BYVRA7 FILT

6 | of|X o 1
L] o ] o e
0 | oJLZ Z l

1 .
P:[ 2-l} Pl P-‘A-P{

I



Ho,i/j ~2

TR Ra 6917 B TR PR L ST ARG s
A=11 3 (3 R = -3 -

WAL 3] e [f ?}
0 —= 2

B ‘(’A(t) ‘tl \ s@-0)-9 = (t~4> (t+2)

\) BRI 4 v=2 B3 HaBAB )T Amﬂmﬁr“&

 LZWwERE4 2 JBEATHLR o o

,, \SIM‘J] +3) # H RTINS
- BAE -2 0 BANHLE - o
s A T 1] e Emenx sae)

L51E) =l o ] #gmsws s
P=T1 | . PTAP=[4 3

[I ~|} . PTA [ —ZJ 23
o ,cz) ) = 3-2 ;3 & = (t-2)° (tﬂ)ﬂ(t—z)”fz(tﬂ)
- lo 2 t-2| =@E2@2)0-1)
ot»@ﬁﬁg [,2,-2. %@53%@%@ @tfm Awﬁﬁ\m"g

NTEAE | 2 BVEANT7HLE . |

2 =2 1 I o
[' M] [ﬂé] 7 H S BPoMy .
0. Z B Y

,,,,,,,




wa [3S3

TERME 20 BRENTLE S

2 =2 01141 X |
=3 Y =20Y] gy o e Hmrauny
0 -2 2 =)

2 2

BVEE -2 o BVRATHLIZ
2 =2 o][d 9 l |
=3 1”“4J=—2 Y L) [2( A VRN
O -2 2J& | R |

2 1 1] o . Il 0 ©
P- 2! ozl CR T PAP=[0 2 0 73

=1 0 6 2

CBRE o 2 2] i
A SE 7 SR BTAS HER L STAS D A -
5 6 A
B Cact) - /t{ t23 2) - t2tA3) G4 12t 2t —4 (E43)
- ) —
=) 2 t =(Jc-l)'(’c+2)2

\‘\@ﬁﬁ(?f l ¥ -2 . o
dwV/() =1 @ hdT 3o dmV(2) =2 THng TECTRS . 07

| -2 2 -2 -2 2 =2
rank (-2F ~A) = yank ~ 1 =l =mnl< o o o =] o]

-2 2 -2 o 0 o

C dmV(2) =3~k FE-A) = 2 B GRLTRS -




27 BEE | o BRNHUT

To —= 2] |4 1 I

L~3 1y =]y $) | " EPou3
2 "2 62 Z bl

V(-2) £+3RN3Y .

1o =2 27[a ol (2Y42% = 2
=3 (=20 &) (u-sy+z=~2“a YE'3. cnERR<y
2 = vz Z 2029 = -22

A=t, Y=5 wb<x. Z=-aA+tY ) —$KFE17

<] S } [ 1 [ } 2y V(—2>=< [ 0]/[|]>(‘2{5
| 2 ~t+S —| 1)/
" p- {l 0 IOJ g, PA P["? = ZJ R

2 -] 0 o -2

RR Raf77| a AR AR AR T B TR 5

) o | ) 2 ] | | o
A=[o\ ol B'—“[\ 2 |] -
0o | I ) ,

VYORADE t 0 = ’ =@t-1)Y ) BAfel
0 © tl
rank (FE ~A )= ran [o o — J | J')
O 0 D
00 0 o




w [3-5

@ Bt J;ll | -’; = (t2)-2-3¢t-2) = F-1D(t—4) .
3t - o
~l - t-2 HERED | ¢4 . |
rnk(F-B8) = ronk [—\ ~| ~1] =mnl<[~l - J = &
, ~\ -1 =l 0 o D
~ - 0O 0 ©

 diml) =312 & BrXAERE. V) # RN,

20 ] AT DY+
P2 Y=Y & ) A2¥rz=Y Ry .
| 12 JE] 2 A+y+22=2 |

%=t Y=S eRgE 2o o TR
LT = )
U =10 [+S | ey vy =( |ol,|! vy
) |~T=S ~| - & .
BYRIE 4« BUAN 7HU13 -

2 0 1\l (Al f o
J: 2 lJM =4-[§1J &) ['} # F\ T3
BEEBIE: Z (

o |0 , ©ne l 0 o}
P=lo 1 vins PTRBP=]o 1 o LIRS
~| | 0 0 4

— —




